Cumulative Algebra Review- Chapter 11

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. If the second term in an arithmetic sequence is 4, and the tenth term is 15, what is the first term in the sequence?

(A) 1.18          (B) 1.27          (C) 1.38

(D) 2.63          (E) 2.75

2. When 
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is divided by 
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, the remainder is 2. Which of the following is the value of L?

(A) 4      (B) 6      (C) 10      (D) 12      (E) 15

3. Which of the following is a zero of 
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(A) -15.16

(B) -7.58

(C) 0.67

(D) 3.16

(E) 7.58
4. If 
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[image: image7.wmf]2

log

x

y


II.

[image: image8.wmf]log

x

y


III.

[image: image9.wmf]log

2

x

y

æö

ç÷

èø


(A) I only

(B) II only

(C) III only

(D) I and II only

(E) II and III only

5. 
If In January 1990 the world’s population was 5.3 billion. Assuming a growth rate of 2 percent per year, the world’s population, in billions, for t years after 1990 can be modeled by the equation 
[image: image10.wmf](

)

5.31.02

t

P

=

. According to the model, the population growth from January 1995 to January 1996 was
(A) 106,000,000

(B) 114,700,000
(C) 117,000,000
(D) 445,600,000
(E) 562,700,000
Diagram for Written Response Question
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

The figures shown are the first four stages in the creation of a fractal. The side length of the square in Stage 0 is 6 cm. At each subsequent stage, a square is added to the middle third of each edge of each square from the previous stage, as shown.

a. Consider the areas of the squares. Show all your work.

i. What is the sum of the areas of all the squares in Stage 3, including overlapping areas?
ii. What will be the sum of the areas of the squares in Stage 7?

iii. If the fractal continues indefinitely, what will be the sum of the areas?

b. Now consider only the “new” area at each stage. In other words, do not count the overlapping area. Show all your work.

i. What is the area of Stage 3?

ii. What will be the area of Stage 7?

iii. What will be the area of the fractal after infinitely many stages?

c. What is the limit of the outside perimeter of the fractal? Explain how you found your answer.
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